APP&SS L0

> T U D Y L. ENTIRE
HORTICULTURE EXAM 2018 (11.08.18)

SUBJECTWISE ANALYSIS & CATEGORIZATION OF QUESTIONS

1. Match the following:

A. Astronomical unit 1. motion of objects
B. Newton 2. distance between the earth and sun
C. Galileo 3. distance travelled by light
D. Light year 4. law of gravitation
A B C D

a1 3 2 4

b. 2 4 1 3

c. 2 1 3 4

d 3 2 + 1

aflmg [ o Ler afleng Il & GQuTmHH SCp GCETGHSIILL BeiTel CHTGUIT(HHIA
gflwrenr allewLemw Cxfley OFuls.
aifleng 1 afleng 11

A. aumeriluied o0& QuT(Hedmeedt BuUichaLD

I.
B. Blugl L e 2. Yals@h @Gflwamib@d 2 6en OHTeneve)
C. 606506wWT 3. @afl &L&GID OFHTm6eva)]
D. gefl sy 4. miy eNg)
A B CcC D
a. 1 3 2 4
b. 2 4 1 3
C. 2 1 3 4
d 3 2 + 1
2. Which is the instrument used to measures relative density of milk to determine
purity?
a. Bactometre b. Lactometre c. Pyrometre d. Hydrometre
obhd 2 usgeuild uUTedel SILTHs GCoupur@d MDD UTedlell HTUl SHalend Ml
LWeTLBGSBEI?
a. umsGLmBL LT b. eors@LmBL LT

C. ewuGymbLLiT d. ewamipGymb L
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The fraction of

of the thermodynamic temperature of the triple point of

water is

a. Coloumb b. Celcius c. Second d. Kelvin

pifler apliyeiefuiled Geulin Buibsaluweds Oeauliuplemeoulled  LeTeriLiGd) 6TeLg)
a. GmeUIid b. Ggeodluierd c. alemg d. Oassvaiei

Two bodies of masses 10 kg and 20 kg respectively falls from a height of 10 m
to ground surface in 5 sec, the ratio of kinetic energy of these two body

a. 1:1 b.1:2 c.1:4 d. 1:8

10 &l.& wBpid 20 &H.& BHevpuleien @ GQUTHL ST 10 WL LT o wrsHHled SmbHa
5 allemguied Hengenul SiHLWJLTEITED SDlauBsledt Suibs SLBBELBTET HH6

a. 1:1 b.1:2 c.1:4 d. 1:8

If velocity of sound is 300 m/s then time taken to travel a distance equivalent
to lightin 1 sec

a. 100 sec b. 3600 sec c. 106 sec d. 104 sec

oedular HangGausd 300 15/al ealled, @ef o@m eolamouisd SLbgH OFevenID
OpTemevemel 60l HLHDH 61(HHBHIHOBHT6ITEHLD HT6VLD

a. 100 aleormiy b. 3600 alewmg c. 10° alemg d. 10* aleormy
CHEMISTRY

Glass is affected by which acid?

a. HC1 b. HSO,4 c. HF d. HNO3

SHEWIGNITLY  GTHEITEL LITSHSHSLILIBSBSHI?

a. HC1 b. H,SO,4 c. HF d. HNO3

What is the percentage of nitrogen in urea?

a. 50% Nitrogen c. 46% Nitrogen

c. 80% Nitrogen d. 90% Nitrogen

wflwrelled o eitern emBL MGG D66 616316017

a. 50% ewpL yegest b. 46% ewmL yegest

C. 80% ewbL_[yegest d. 90% empL yegest

A solution whose pH value is 4 Then the solution turns
a. Red litmus into blue b. Blue litmus into red
c. Keeps red litmus as red d. Keeps blue litmus as blue

m sgede pH 4.0 eafed idbsmrased
a. ool eJLoemery [HeV HIBLOTEGLD
b. Bev eilemery Feuliy MHIBLOTSHGLD
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10.

11.

12.

13.

C. dlauly el wenerv FauiunsBeal emeusHH (HdHGLWD
d. e el emery MHevloTEHGR MeUGHH (HBHEGHLD

The metal which melts at Human body temperature is

a. Gallium b. Indium c. Thallium d. Boron
weld 2 L 60 Geauliuplemeouled o (HhG o Geomsld 61?7
a. &medlwib b, ®ewnguid C. SHTedwib d. Gumymesr

Artificial rain is formed by using

a. Silver Chloride b. Silver Bromide
c. Silver Iodide d. Silver Nitrate
Cewmens ewp GumHw LweTu®B GFTowb
a. Fevaum GCenmmeny(® b. Feveut LGyTenO(®H
c. HoveauT SGWTL (B d. Hedeur empL Gy
BOTANY
are bio indicators of environmental contamination
a. Parasites  b. Saprophytes c. Fungi  d. Lichens
GLDHIEN6V  LDGWIL 60 FH60T LOTGidHeMeN ST (D o ull(hHeilenenel Eene
a. L (BewTeniber b. ammiewieniseir
C. LGhowg d. emevdameierd
ZOOLOGY
The of the testis provide nourishment to the developing sperms.
a. Epididymis b. Testis  c. Sertoli cells d. Urethra
albhHeHIeTen albgh CFOHEHHEG 2L L HdH SleLILIG
a. enienLigLilerd b. albssbd
C. QFmBLTelF OFeLFHeT(HTHF CFe0LH6IT) d. AgsT ypend
Match the following :
A. Chloro fluro carbon 1. Green house gas
B. Carbon di oxide 2. Ozone
C. Stratosphere 3. Hydro carbon
D. Butane 4. Freon gas
A B CcC D
a. 1 2 4 3
b. 2 1 3 4
c. 4 1 2 3
d. 3 2 4 1
CUT(HSHSIH:
A. &BermGym LenGym  HmiTLIeH 1. sewiewimy i eumu]
B. sniuer v odHemen® 2. @Gament

C. oo Gy BLmerd.".wiT 3. ewaml Gym smiTues
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14.

15.

D. (Nuy 1l GLeur 4. . 9gmest eumuy
A B C D
a. 1 2 4 3
b. 2 1 3 4
c. 4 1 2 3
d. 3 2 4 1
ANCIENT INDIA
Match the following :
A. Shakuntala 1. Visakadatta
B. Mudrarakshasa 2. Dandin
C. Miruchakatika 3. Kalidasa
D. Dasakumaracharita 4. Sudraka
A B C D
a. 1 3 2 4
b. 3 1 4 2
c. 4 3 1 2
d. 2 4 3 1
SLDHMILUBenB  CLIT(HHSHIH:
A. Fn@haevld 1. alFTsHHHT
B. waymgmgsb 2. SH6TIQ 60T
C. pFas19HID 3. STeMGHTFT
D. sg@wmafsib 4. GoHYHIT
A B C D
a. 1 3 2 4
b. 3 1 4 2
c. 4 3 1 2
d. 2 4 3 1

Who is also venerated as 'Second Buddha'?

a. Maitreya b. Padmasambhava
c. Avalokitesvara d. Mahasthamaprapta
BIewILToUGH LISHST 61601 6UemImISLILIBLIGUT wimT?

a. engGyui b. ugwgmbLieur

C. 9lauGeoralGL erdeuyT d. wemrgsmolFIST




16.

17.

18.

MEDIEVAL INDIA

Find out the wrong answer

a. Mansabdari system was introduced by Akbar

b. Akbar built Bulandarwaza at Fathepur Sikri

c. Shershah was the forerunner of Akbar

d. Akbar was known as Salim

SHUBTET AUTHSWHmS Hewi(BHLilg

eTFUSTT  (pewB DIHUTTE0 DIBI(PSLILIGSHSLILIL L

SIBUT LGHUT FHeHMulled UeobsHTouram SLigL Heng SHL 16T
o1bUfler (1pestCentmy OCORTOT

. DIBUT F6OlD 61aTBeNLOSHSBLILIL LT

a0 o

Who introduced Tax for irrigation first time in India?

a. Feroz Tuglaq b. Mohamed bin Tuglaq

c. Alaudin Khilji d. lltumish

@phHwnaled BIUTFOIHHBEG aufl CFISHHID (WD (LPGHeVIeL DINI(LPSLILIBEHUIUT
a. UGymerd Hicbens b. waba et Hibernd

C. STaFHeT FHevgd d. Sevaiiad

Consider the following statements :

Assertion (A) Shershah was called the Father of Modern
currency.
Reason (R) : Because of the introduction of silver and gold

coins mint his name in Devanagari script
a. a is true (R) is false
b. Both (A) and (R) are true, (R) explains (A)
c. Both (A) and (R) are false
d. (A) is true but (R) does not explains (A)
BIPHBEIL  UTH D LIBIBHEM6TDH H616DT
FaBml (A) : 06egTaT Halwr BTl (LPEOBUNET HhHeDd 6TGIBMLOSHSIILIBEMITT.
aryewib(R): [BIT6ROTLL F1FH(HHHHMH GLoB O\ Teut (h SHMIP, GleueiTer
BTewLSHHe0 HeiT Guweny GHeupram GLomHuled USHSHSTT
a. (A) afl gemed (R) seum
b. (A) wspd (R) yewibw &fl Gusid (R) eeiug (A) aldeg gfwmer alendsbd
c. (A) wpgd (R) QrewiGd seuml
d. (A) afl gemed (R), (A) ali@ Fflwmer alendasiosve




19.

20.

21.

22.

MODERN INDIA

Tashkent Declaration is associated to which of the following.

a. Indo-Pakistan War (1965) b. Indo-Pakistan War (2000)

c. Bangaladesh Independence (1971) d. Chinese Aggression (1962)
SHTAGHMIL QUUBHSLD SDHWIL 61bFH HIBLDAL 6T FLOOHSHUILIL L Fi?

a. @pawm-urdlervgrer GumT(1965) b. @pFHwr-urdevsmer GuTT(2000)
C. aumG &HHAHTL GumT(1971) d. a1 uemL QuiBriy(1962)

Bhoodhan mpvement was started by

a. Jayaprakash Narayanan b. Jawaharlal Nehru

c. Achariya Vinoba Bhave d. Dr. Rajendra Prasad
LUSHTE BUSsHmeS LIS SHeUT

a. OulTsTad HITFTUICHT6H b. meuamiteomed GrH

c. gpFgmiu alGemmur uTGeu d. LrsLr gnBxpdy LgFms

Who influenced Gandhiji on non-violence and truth?

a. Gokhale b. Tilak
c. Lala Lajapat Rai d. Rajchandra Ravjibhai
SIFIbenF OBBID FHHWID BCureip CsTeTendHMmeT HMHHHEG alewHHHT WITT?
a. CamraBev b. Sevsit
C. 6UMGUT 6UXQLIZ Ul d. grapdly gelagumul
SOUTN INDIAN HISTORY
Match the following :
A. Sangama 1. Veera Narasimha
B. Saluva 2. Harihara
C. Thuluva 3. Saluva Narasimha
D. Araveedu 4. Thirumala
A B C D
a. 4 2 1 3
b. 2 3 1 4
c. 3 2 1 4
d. 2 4 1 3
QUT(HSHHIH:
A. gBIsID aUDFID 1. efymydlibom
B. gmemeu aubs1d 2. amfamyiT
C. siemal aubFId 3. gmemel BT
D. opei aubsbd 4. Flmoeor
A B C D
a. 4 2 1 3
b. 2 3 1 4




23.

24.

25.

26.

27.

28.

W
N W
N
o
SSIITN

Later Vedic period which division is called Dakshinapatha?

a. Northern India b. Central India
c. Southern India d. Out of India
BoumpaTevdHde0 HbbdHemi 6hd Llfley S Feotursld elenr DieDIDHBLILILL )7
a. eI @hawr b. wsHw BbAHwir
c. Oxevreihgluim d. @bFHuimeydsd SIILITeD
MATHS

7 men can complete a work in 52 days. In how many days will 13 men finish
the same work?

a. 26 b. 27 c.28 d. 29

7 spemisen @b Geuemevenuw! 52 BT &6fed (WQLILITTH6T ealed 13 Spemidel SI6CH
Gouemeveml 615HFHEmeN BT H6iI60 (LIQLILITTEH6NT?

a. 26 b. 27 c. 28 d. 29

Base area of right circular cylinder is 80 cm?. If the height is 5 cm then the
volume is

a. 400 cm3 b.16 cm3 c. 200 cm3 d. —m?3

R GhTeaulL o (mewemulem Sigusbs UFLL] 80F.05.15. SiHeT 2 eafd 5 GF.15 elefev
DIHGT B SHI616)

a. 400 cm3 b. 16 cm3 c. 200 cm3 d. 400

Find the simple interest on Rs. 7,500 at 8% per annum for lyears.

a. Rs. 800 b. Rs. 900 c.Rs.8,400 d. Rs. 10,000
57,5005 8ep Uy aIHD @@H QUHLLD 6 LOTHHIGEHHITET SH6d QUL IQenUl SHTEWIS.
a. Rs. 800 b. Rs. 900 c.Rs.8,400 d. Rs. 10,000

If one fifth of one third of one fourth of a number is 2 then the number is

a. 50 b. 60 c. 100 d. 120

T 6TewIenIel MbHL 6(hH LRSI cpeipsled 6(hH LIRS BTeiidled @(h LG 2
16160 6110l616uIT

a. 50 b. 60 c. 100 d. 120

A silver wire when bent in the form of square encloses an area of 121 sq.cm. If
the same wire is bent in the form of a circle. Find the radius of Circle.
a.1lecm b.7 cm c. 3.5cm d. 14 cm




29.

30.

31.

32.

33.

34.

@ OeusTal SLIemW MENSH @(H FHTLTS LIBBLUUGHMBSH.  FHTHHeT LTl
121 5.08.15. 906 sbUmw ameTHH @H GILLIOTS LOIHBIEITe0 Db UL L GHIH6
SLJLD 616016077

a. 11 Q.8 b. 7 Gg.18 c. 3.5 Q.6 d. 14 Qz.6

-1/2

Simplify Gj —3x8"2 x4’ +[%)

a.0 b.1 c.2 d.8
F(THEH D (lj_2—3x8%x40+(ij_%

OO 1% 16
a.0 b.1 c.2 d. 8

If2+3=89,3 +4=8164,4 +3 =648] then1+2 =?

a. 24 b. 14 c.12 d. 10
2+3=89,3 +4=8164,4 +3 = 6481 erevfled 1+2 =?
a. 24 b. 14 c. 12 d. 10

Mean of 100 observations is found to be 40. At the time of computation two
items were wrongly taken as 3 and 72 instead of 30 and 27. Find the correct
Mean.

a. 39.82 b. 40.18 c. 41 d. 42.5

100 eremigeiesr Fyma 40 eleiim STewIlLLL Gl HewibH B ChrHaHled 30 wBmId 27
a3 @ eleaujmideT 3 WBmID 72 6eHHAUBIHEVTH  61(HHIHIHOBTETEMLILIL L G|  6T60T
Cxflw aubsa eeiled gflwmer Fyrafenuid STeHIS.

a. 39.82 b. 40.18 c.41 d. 42.5

D is taller than C but not as tall as B, C is taller than A. Who among A, B, C and
D is the tallest.

a. A b.B c.C d.D

D eaaueut Cey ol o _wiyomeeT, oiemed B oeneydsd o wigifevenev.  C ereiiieul
Agm ol o wgomeeu eefed A, B, C, iopmpid D-60 o wigiomesteut winf?

a. A b.B c.C d.D

Find the odd man out in the following: 1, 5, 14, 30, 50, 55, 91

a.b b. 50 c. 55 d. 91

Leteu(hd eTemidbeil GHTL Touflengdulled OUIT(HHSTH 6TewIN6IES SHTEWIS.
1,5, 14, 30, 50, 55, 91

a.5 b. 50 c. 55 d. 91

IN the given figure, find the value of x.




35.

36.

37.

38.

a. 40° b.45° c. 50° d. 60°
CaTBSHSIeTeN UL SHHNHHH X-B61 LSHIenLidh BHTewlH

t

a. 40° b.45° c. 50° d. 60°

There are 80 bags each bag contains 15 fruits. If a bag contains 12 fruits the
number of bags are

a. 10 b. 100 c.8 d. 20
@6lOeum(h  emuuleOd 15 LpmIGeT OsTewih 80 emLIGET o eileniedl, elelled 12
LILpHIB6N6NTES OBTeniBh DIeNSHEH 615HHMILI LSBT BHeneu?

a. 10 b. 100 c.8 d 20

If 2x+y=15, 2y +z = 25 and 2z + x = 26, what is the value of z?

a.4 b. 7 c.9 d. 11
2x+y=15,2y +z =25 and 2z + x = 26, aiefled z-651 HWIL| SHT6wISH
a. 4 b.7 c.9 d.11

If AB=12, BC =23 then YZ =?

a. 2426 b. 2325 c. 2435 d. 2526
AB =12, BC =23 aiatflev YZ =7
a. 2426 b. 2325 c. 2435 d. 2526

Find the area of the following shapes

2m 2m

a. 26 sq. m b.36 sq. m c.46sq. m d. 56 sq. m

SPBHMIL. o (HeuHHlest LJLIL| SHT6wIsb.

9




39.

40.

41.

42.

a. 26 g.18 b. 36 .8 C. 46 5.6 d. 56 .8

58 58

48

88

Find the value of x

el

a. 847 b. 487 c. 784 d. 748

X-601 LDGIL| SHT6uIH

214

a. 847 b. 487 c. 784 d. 748

Find the greatest number that will divide 51, 99,191 so as to leave the same
reminder in each case.
a.4 b.7 c.9 d.8

51, 99, 191 oudlw etemidenen 6bd LS GuUflul eTewIemimed UGEHGWD OUTIg 15
OIS SHlenL_H@GLD?

a. 4 b.7 c.9 d. 8

Vishal deposited Rs.200 per month for 5 years in a recurring deposit account in
a post office. If he received Rs. 13,830. Find the rate of interest

a. 6% b. 5% c. 8% d. 9%

alagmed  @alGeuT(h  1TH  FHUSSHHID 5200 0 QT DEHFVSHHD 5
W BBHEDHEEG OCFHSH eubSHTT (paled SleuT epH.13,830 GUEBBIT elelled 6ullg
aipld el6uTenr?

a.6% b. 5% c. 8% d. 9%

Find the difference between simple interest and compound interest on Rs.2,400
at 2 years-at 5% per annum compounded annually.
a.Rs.5 b. Rs.6 c. Rs.8 d. Rs.7
(h.2,4005& 5% oewiB Ul ly &iFHDd 2 eiBHeriled S HGD Tl B QU IgHEGHID
SHlaU 9SG 2 6ol aSHHWTFID HT6WIS.
a. @n.>5 b. em.6 C. e 8 d. em.7

10




43.

44,

45.

46.

Find the value of ‘X’

)

a.3 b.9 c.6 d.12
‘X’ e LI HT6u0IH.
P
2\
6 cm
A B \
Q = R
a.3 b.9 c.6 d. 12
a+b a -b’ . : : :
If p and —  are the two rational expressions, rational expressions, then
a— a +
their product is
a’ +ab+b° a’—ab+b’ a’—ab—b’ a’ +ab+b’
" dP—ab+ b " & +ab+ b’ " & +ab+ b’ " d—ab-b’
333
a+[; LoBMILD a3 - ol m alFspn Carenalsel eleled Sjeumsles OILIHEHSH60
a— a +
LIGVGOT.
a’ +ab+b’ a’—ab+b’ a’—ab—b’ a’ +ab+b’
" a’ —ab+b? " a* +ab+ b’ " d +ab+ b "’ —ab-b*

Find the total area of 14 squares whose sides are 11 cm, 12 cm, ..24 cm.

a. 4415 sq.cm.  b. 4055 sq.cm. c. 4155 sq.cm
11 Qg.b, 12 G&g.16
FEITRISeTT OoTSHSH UJLIL SHT6wIs.

a. 4415 sq.cm. b. 4055 sq.cm. c. 4155 sq.cm

L2240 Q18 s ElwismBenm

d. 4515 sq.cm.
LUSBmIB6eNTsH Osmemi. 14

d. 4515 sq.cm.

The value of an old car is Rs. 45,000. If the price is decreased by 15%, find its

new price.

a. Rs- 38,250 b. Rs. 39,350

AUOUTIEH BT LFHW allenev  eT6d160r?
a. 38,250  b. 39,350 C. €5.40,250

11

c. Rs. 40,250
@@ uempw &l alened  05.45,000/- DHST  alenevuied

d. Rs. 41,250
15cp  GemBe 6160760

d. 541,250




47.

48.

49.

50.

51.

52.

The ratio of the speed of the three cars is 2 : 3 : 4. What is the ratio of times
taken by them in covering the same distance?

a.2:3:4 b.4:3:2 c. 4:3:6 d.6:4:3

pSSIml HMTH6eT 2 : 3 : 4 iy aldHlH CousdhdHed QFIBTD DHFH PGBl HTTHEHLD
R GUEUUILL g0 FMIHmH H.5& 61bhHHIS OFTeTend Grymseile aldsHsHmeHsd
STEWISH

a.2:3:4 b.4:3:2 c.4:3:6 d.6:4:3

If p = 9 then 3 p(p>+3p+3)+1 =2

a.10 b. 100 c. 1000 d. 10000

P =9 eafed 3\ p(p>+3p+3)+1="7

a. 10 b. 100 c. 1000 d. 10000
POLITY

The constitution of India came into force on

a. 26t January 1950 b. 15t August 1947

c. 26th January 1947 d. 15t August 1945

BB DU BEDL(LPEDBES 6UHH pewiB

a. 26 mereufl 1950 b. 15 symerdr. 1947

C. 26 sgemeufl 1947 d. 15 eymeror. 1945

Rajya Sabha consist of

a. 220 members b. 230 members

c. 250 members d. 200 members

LOTHeV Sieweuuie GLoTHE 2 MILITTTHET 61651601 HENSD

a. 220 o_minierrsei b. 230 2 _muwlerase

Cc. 250 o_munlerteser d. 200 o_minNeniraseit

Number of election commissioners in election commission of India is

a. 1 b.2 c.3 d. 4
BhHW CHTHeL SLMEUISHHED 2 66T  HLENCITUITH6IT 6T  6T631600T 6N D
a. 1 b.2 c.3 d. 4

Consider the following statements:
i. The 734 Amendment of the constitution was enacted in 1992
ii. According to 7319 Amendment of the constitution Tamil Nadu Legislative
Assembly enacted Tamil Nadu Panchayat Act in 1994
a. icorrect and ii is wrong b. iis wrong and ii is correct
c. Both i, ii are wrong d. Both i and ii are correct
BIPHBHEMIL UTH B UIMIBENET  He6T:
1.  opdweoemwliier 73 augl HHSHSD 199210 ewih SuIBBLILILL H
12




53.

54.

55.

56.

57.

58.

1.

SWODHTH FLLWeBD 73 eugdhl DFFweumwlls HHHHF FLLGHGHET Ly 1994
D Sewih SHOWBTH LehFTWHHIF FULSHFHemenn HlevmpCeumpluig

gflwrenr alewLemwid BaiThHoHHHBMLD

a. () #f wBpd (i) Heum b. (i) seum wBmd (i) &

c. () wmpud (i) sHeuml d. () By (i) oM

The constitution of India was framed by the constituent assembly

a. 1946-49 b. 1947-48 c. 1950-51 d. 1951-52
BhHw  SFFlweveniolienl o (HeuTdhsd DFFuled HiTtewil gFou  6IbhHHd OleTemiL
&ITVLD

a. 1946-49 b. 1947-48 c. 1950-51 d. 1951-52

Election commission of India is situated at

a. Chennai b. Mumbeai c. Hyderabad d. New Delhi
BphHL CHTHEL SLENERTULILD DIGOLOHSHI6TEN @D 61817
a. Geieneo b. weu c. ®aBHILTSH d. ysIEL el

What is the age limit of Judges of Supreme Court?

a. 65 b. 62 c. 60 d. 58
® FFHIHI0MIB BHHLUSHUNET eUUIGH 6UTLDL
a. 65 b. 62 c. 60 d. 58

Jammu and Kashmir Legislative Assembly period is

a. 4 years b. 5 years c. 6 years d. 7 years
MUD(LP-STALT FLLLOGTINSHH LSHaT SHTe0LD

a. 4 SEHIBHSH6 b. 5 syemiBsein

C. 6 SeWIBH6IT d. 7 wiBser

The Fundamental Rights are classified under heads
a. 8 b.5 c.”7 d.6

SlglilemL. o Menosell 616HHmen HemeoliL|Herlled LML (Heieng)

a. 8 b.5 c.”7 d. 6

The kingpin in the administration of the corporation is

a. Mayor b. Commissioner

c. Councillor d. Executive officer
LMHSITL S HiTeuTasSSHer DIFFTemIWLTS SHLILIGUT
a. Guowir b. syememruir

C. 6 eTdleu d. semevenip BiTeurd)

13




59.

60.

61.

62.

63.

GEOGRAPHY

Which layer of the atmosphere is rich in ozone?

a. Troposphere b. Stratosphere

c. Ionosphere d. Exosphere

euerl el 60SHFHe0 61hFH Db GFTEHI DIFHHLOTE 2 6iTengI?
a. 19GymGuimerdLwiT b. a0 gmGLmerdLuiT

C. WGarmeroLwiT d. e18GeromeroLIwi

The grassland of Eurasia is called

a. ampas b. Velds c. Downs d. Steppe
WBradwimaied @memriiLBD LievGeler
a. UTLDLITerd b. Qeued® C. OIemaiTerd d. edGLn

The year in which the Environmental Protection Act is implemented

a. 1974 c. 1986 c. 1981 d. 1978
SGBOILIUBE G060 UTHISTUILF FLLLLD SuBBUulL o
a. 1974 c. 1986 c. 1981 d. 1978
Match the following
A. Amazon 1. Asia
B. Thames 2. India
C. Irawathi 3. Temperate region
D. Ganges 4. Tropical region

A B C D
a. 4 3 1 2
b. 4 3 2 1
c. 4 2 1 3
d. 4 1 3 2
LesTeu(heueteuBenBLl OLIT(HEHHISH:

I II

A. &Gwsmesr 1. sedwm
B. Gaziberd 2. @bgHwm
C. sgymeug) 3. 0s06eulL LDEWTL 60LD
D. s 4. S|LIGILDEIOTL 6VLD

A B C D
a. 4 3 1 2
b. 4 3 2 1
c. 4 2 1 3
d. 4 1 3 2

Which is an instrument used to measure the velocity and direction of wind?
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64.

65.

66.

a. Thermometer b. Barometer

c. Anemometer d. Windvane

s1BPer Cousd wBEMID aisibd Hmgulmeid Senall LWLGBLD ShHal
a. Geutuomef b. siwsHswret

C. IIGmBL LT d. &mBpIS HHFHM I

Match List-I with List-1I correctly and select your answer using the codes given
below :

List I List IT
A. Dudhwa National Park 1. Karnataka
B. Nagarhole National Park 2. Madhya Pradesh
C. Ranthambore National Park 3. Uttar Pradesh
D. Kanha National Park 4. Rajasthan

A B C D
a. 3 1 4 2
b. 3 1 2 4
c. 1 2 4 3
d. 1 2 3 4
uliguied I-eg uluwed Il-o L&t QuTmss &6 CBTGESLILL (HelTen GBUIBHmeTsH
Carenih alemLemuld BHiTho\%HH
A. giean Gapdlul ymism 1. STBIL&LD
B mpa&iGsmed BGxhdlul Lmism 2. HFHW UgGHaIb
C. phombuT CHdwl LmisT 3. 2 535 UiGsab
D. seaiast Cadlul ymism 4. BITEer0SHT 60T

A B C D
a. 3 1 4 2
b. 3 1 2 4
c. 1 2 4 3
d. 1 2 3 4

CURRENT AFFAIRS

Rammasun and Hagupit are the names associated with recent

a. Space vehicles of NASA b. Navy ships of India

c. Typhoons in Philipines and China d. Missiles of India

JWTOFT WLBHBID aBGLIL SpFlul GuwiTseT FousTer SeauBCBTEG OHTLTLEmL Wieme
a. BIFTaleTg 616w & 60MmIH6N

b. @bHwimaleng L BLEML  BLILIGOH6IT

C. Uedliemuieiord LoBmId Feor BTLB HHLOLUIGOSHEIT

d. ShHUTel6T 6J6)Hem6mTH6IT

Who is the Chairman of the XIV Finance Commission in India?
a. Rudra b. Alka Dhupkar c. Y.V.Reddy d. Rajatarang
15




67.

68.

69.

70.

OhHWTalled LSBTEISTD Hldh DpLenenILSH6 HEN6VEUT WITT?
a. (H&ym b. opeosT SHILETT c. @uial. Oyl d. grmsyms

Identify the renowned scholar from the hints given below?

I. ‘Kaatna Shami Ka Vriksha’ is his novel

II. He was selected for the prestigious Vyas Samman 2016 in February 2017
a. Mr. Surendra Verma b. Mr. Prem Chand

c. Mr. Anish Kapoor d. Mr. Kamal Kishore goyenka

&6  OaEThHSSLIUL(BHeTen  HambGHaNe0(HbHEH, USDOES Bbs DnleuTerenyd

SHeWIL N5,

L. ‘ST Gl &T UHIIT — 6leiUH SeuTdl LISHeILD.

II. 2016 &b SemngBE Osenyauldss alwmed gFbwrer alhIABEG SeuT Lyeur
2017 @60 Bxitey OEFuIWILILIL (heiT6eNIT.

a. Hm. &Cybdy eumom b. Hm. UGy FHs

C. B SN0y ST d. Hm. swed HCagrT GHTuIBIST

Madurai bench of the Madras High Court has ordered Tamilnadu Government
to enact a law to eradicate Prosopis Julifora in February 2017. What is Prosopis

Julifora?
a. A viral disease b. Roto virus
c. Seemai Karuvelam tree d. Kanimaranjandu, a tree crab

digeufl 2017 @60, Goaienen o wWibHwaBsHer waHmy b (Prosopis Julifora)
LgmGeromdlend  gg7eVl.”.CGuT-allenat SiCWITG @WIILGBSTe FULD SuBNBL  SODETH
SFBG opwent LUpliisgereng. @bg LgnGeromied ggeell. QLT eTeug

a. @@ emaugeTed 2 (Haum@ Gpmul b, GyrLm eneuyerd

C. FemnddH(HBaI60 LOJLD d. sel WwWrehFhal, @@ OJ HEWIH

Which footballer has won the 2018 European Golden Shoe?

a. Lionel Messi b. Mohamed Salah

c. Cristiano Ronaldo d. Robert Lewandowski

2018-@60 ‘Gymiumelest FHMis HTevewl GOUSIB SHTEOLHSTL L @iFiT uwimit?
a. edGwimemed GIDerOEN b. GuramGio’ Fevam

c. slflerogwimentm GymeotmeL@LT d. gmum’ GeveuremGL Terdad)

CAN, Europe has reported Denmark as the best performing nation followed by
Sweden. What is CAN and what for it has ranked the countries?
a. Central Authority for Nations, for high literacy rate
b. Committee of Network of Knowledge, for high literacy rate
c. Cyber Advanced Network, for low cybercrime rate
d. Climate Action Network, for low CO; emission
AL IS DbSHHUQUITS OLIoTTeEHmenn  (PHeTtewnF  CFweomBmID  [BTLTS,
Grmiuiw ‘Bseir(CAN)’
a. Qe geo SIHTIL. .uTT Chageren, HFHHWTS SNl aiHsHHBETS
b. sy & .0 GBLCeuTTd &) .11 BTEML M DHBW0TE Hevalmley eiHHIHBHTH
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71.

72.

73.

C. emFUT S euteitervB OBLOeutTed GHMBHS UMeVHT GBB IHSHHBHTH
d. dewenGol. eybaget OBl CQeutid Gophs CO’ o 10ipalBsTs

TAMIL NADU HISTORY & AFFAIRS

In 1908, Bharathiyar organized a huge public meeting at chennai to celebrate

a. Swaraj day b. Birth day

c. Press day d. Service day

190810 opewiy  UMTFHWTT  GFsiemeruled LOTOLMHD CUTHIS Sl LSHMHHE Sl lg
O\ ITEUITL_TIQ GOTITT.

a. SWImeRedlul [BI6iT b. Uphs BHrer

c. usHfbansd BHr6i d. Ggemeu [HT6I

Which of the following is / are wrong?
i. A Jain monk named Vajranandhi established a Dravida sangha at
Madurai
ii. Achyuta Vikrantha was the most popular Kalabhra ruler who ruled over
Kanchi
iii. The chola age is known as the 'Golden age' of Mahasabha
iv.  Sanskrit was the official language of Pallava
a. ii only wrong b.1iand ii are correct
c.iiand iv are wrong d.i, iii and iv are wrong
HDHERIL UBDIET 6151/ 6Temer  HAIBTTEN6 ?
1. uXMHhHa el Foeidh Hpal waHmIuled Hymall FhEHmSH GBLIH S GTTT
. 91555 aldHIheHT HTehFdW OLewil LS OUBB Semildy LDeTemymeurT
iii. Gamprsefler smeod “oar Fenuulesr QUIBETEWTS” SHSUILGBHMBSH
V. UesbevaTHeMeT Sl & GIomfl FLoerda(HSHLD
a. (il) w’ @ Seuyl b. (i) wpmw ) siwurers
c. (i) wmmd (Av) SHeupTed) d. (i), (iii) wBEpIDd (V) HeuBTes

Match the following:
Taluk District

A. Gingee 1. Perambalur
B. Ambasamudram 2. Thiruvannamalai
C. Veppanthattai 3. Villupuram
D. Thandarampattu 4. Thirunelveli
A B C

an o e
W W W W
R R NG

4 1
4 2
2 1
2 4
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74.

75.

76.

77.

QUTHSHHIH

SHTNBT LOTGUL L_MhIG56IT
A. QFehdl 1. QuybLigyiT
B. sibursups sy 2. &(HEUGKIGTTLDENED
C. GaullupbaL enL 3. allgpliyyid
D. sewi_gmbul (B 4. FmHoHeLGeaIe
A B C D
a. 3 4 1 2
b. 3 4 2 1
c. 3 2 1 4
d. 3 2 4 1

Consider the following Statement

Assertiona.  :In 1944 Justice Party was changed as "Dravidar Kazhagam".
Reason (R)  : The name was changed in appreciation of the achievements

of Justice Party.
a. Both (A) and (R) are correct b. Both (A) and (R) are false
c. (A) is true (R) is false d. (A) is false (R) is true
LesTeu(hHeueieuBens SLUIH
FBBIA) : 194460  pHEGHF  “HrmealLT  spHD” eerl QT

Qauiwlii L g
sryenb(R) bHSHLFUleT FTHmEIHMENL LTJTL LY SIOLIWIT THBBLD
GULDRIGBLILIL L S|
a. (A) wppb (R) BreviGw & b. (A) wpmpd R) GrasiGo Heuml
c. (A) #f (R) seoumi d. (A) seaum (R) &l
In which year the Justice Party formed the government.
a. 1918 b. 1920 c. 1923 d. 1926
bHEHsLF o f SmDSHH 60IH
a. 1918 b. 1920 c. 1923 d. 1926

Koranganathar Temple is located in

a. Sri Villiputhur b. Sri Rangam

c. Srinivasanallur d. Thiruvadanai

CaMmISHIHT CHTaled DieMLOHEHI6TEN @ LD

a. felevallusban™ b, nfymisid c. nfefleurameogorntd. &meuTL menest

Which Government enacted a law for abolishing "Devadasi" system?
a. Justice party b. British c. Congress d. Chola kingdom
b SIFTHIED “Chpeumrd” @il FLLSHMSH HeBCaumluig?

a. pFHésl b. eym&@Gowim  C. sImdTer d. Gamy os

18
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78.

79.

80.

81.

GENERAL KNOWLEDGE

Who was First Woman Governor of an Indian State?
a. Sharda Mukherjee b. Kiran Bedi

c. Fathima Beevi d. Sarojini Naidu
bW LIHEVSSHET (PHeL OILIGHT SH6uTeIT WITT?
a. QLT (P&HTeg b. @yewr Guig

c. ursgor el d. #CGmeded BTWG

Which one of the following is not correctly matched?

a. Human Rights Day December 10
b. National Energy Conservation Day December 14
c. Kisan Divas Day December 23
d. Armed Forces Flag Day December 17
SLPHENILUBMIOT 61h%H QMW HeUBTE CUMTHSHSHUILL (Beitengi?
a. welgh 2 feseT gHleld - l&IbuT 10
b. Cxpdlw eflgsdd UTHISTIL Hed - &Lbur 14
C. Fleromest FHloumerd Fleorld - l&IbUT 23
d. Syremien UL &6 Oy  SHedlid - lpgLour 17

Project A — 119 — was developed by the US Air Force is also known as
a. A study of Lunar Research Flights

b. Achieve Moon Landing

c. Fighter Jet Project

d. Hatf-V Ghauri BaUistic Missile

sue] A — 119 — eaaiug US epsmuill uenLulenmed o 6wl ThalLlL Gl DIgHedT
LOBIGILILIT

a. Fhogemer SITUIFS OQFUILD LETUl aTgleemenl LBBiw LigliL]

b. ghdyeled BBHRIGaMS DD H6L

C. FawienL UI(BD Gl U6

d. 10 - o &n el uTederdigd  6J6rdemeNT

Point out the wrongly matched pair.

a. BRICS Fortaleza

b. 17th Asian Games Incheon

c. NATO Summit, 2014 Wales

d. 2014 FIBA World Cup Rio de Janeiro

SHUBTs CUTHSHBUILIL (helTen Benentullenst &L 19HBML(h

a. BRICS - - BuTLmQevaT

b. 17aug1 o flw alenenwim G GuITL 1p&ei - ©)6i1ab) WLIT6oT

c. 2014, NATO &1bBiermentid - Bausv6M

d. 2014, FIBA 2_svs&GsmiienL - MGwm 19 OegenestGym

19




82.

83.

84.

85.

86.

87.

88.

Who designed the AADHAAR logo?
a. Atul S. Pande b. R.K. Pachuri

c. Sree Ramamurthy Janaki d. Pandit Ravi Shankar
ST CeoT@sm-mer  aUQeIMLDGHSHEIT WITT?

a. OIFIL 6Terd. LTeTEL b. ar.8s. uFE

C. nfImoeIpTSH & egmenie) d. uewngl yelgmisT

National Service Schemes was launched in the year

a. 1965 b. 1966 c. 1968 d. 1969
BTG Heolilenld HLLD blildbsiulL  Sewnib
a. 1965 b. 1966 c. 1968 d. 1969

The author of the book “The Narrow Road to the Deep North * is

a. Richard Flanagan b. Carl Spandler

c. Nichols Winton d. Shakespeare

“The Narrow Road to the Deep North” e LsHsadden opdlflwir
a. MFFT. NeVHTaH68 b. &mited erOGILIGRTL 6T

c. HaHBsmeverd 6wl 6ir d. Gegderdilwim

A blob of oil which has been weathered after floating on the ocean is

a. Crude oil  b. Oil Spills c. Tar Balls d. Oil Wastes

aTewiOewtul  HFaleimed &HLO L LGHHD 10HHHS Fnlgul  elewiGemtul  FHme0DH6N
eTeleUT  DIEWLPEBLILIHE evTN360T?

a. &HFHMNHSILLTS 6T6mw16l600TU] b. eremGenmiul sl Hel

C. ST LbHIHe6N d. arewi@emiul HiH6r 6l

BHOPAL-SHATABDI is the fastest train connects Bhopal and

a. Mumbai b. New Delhi  c. Alahabad d. Kolkata
Gumumed-gHTIS) SiFaleney Bruiev GumumensouLb 11} BT HENHULD
B enenI BB 7

a. (plbenu b. us GLeded  C. SlvBTUTS d. QaTevEHHT

International women's day is celebrated on

a. March 5 b. March 8 c. March 10 d. March 18
gFauBxhg CueIHeT HeD OBTeHILTL LB [HT6l
a. & 5 b. s 8 c. & 10 d. wm& 18

Match the Nation with their currency :

A. Vietnam 1. Kyat
B. Spain 2. Dong
C. Cuba 3. Euro
D. Myanmar 4. Peso
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89.

90.

91.

92.

A B CcC D
a. 3 2 1 4
b. 2 3 4 1
c. 3 4 2 1
d. 4 3 1 2
BTLIQENEIUD DIFHeT HIewishdHer Guuwiflenerujd QUTHHHIS.
A. elwi pmb 1. Sw
B. erdoGILu 65T 2. LIT6sImI
C. Awumr 3. wGym
D. fwiresriomi 4. QuGam

A B CcC D

a. 3 2 1 4

b. 2 3 4 1

C. 3 4 2 1

d. 4 3 1 2
Which State Government confers the Basavasri Award?
a. Andhra Pradesh b. Karnataka  c. Telangana d. Bihar
ugeauTerdf al(hend 6hS LMHIEL DIJS GUPHIGSBSHI?
a. oy LBxHFIb b. &fimmLsT c. OpeumisTemm d. s
The Japanese art 'Ikebana' is related to which among the following?
a. Wall Painting b. Chorus Dance
c. Sculptures d. Flower Decoration

‘BFOueIT  aeemIld UL  BTL(H  Semeowleigl  LlsauheuereuBmie  6TSHenIl 631
OHTLTLemL WgHI?

a. &auT @eilulld b. Gsmyerd HLGID

c. dmu Geauemev d. 6T SJeVRIBTTLD

In India, October 31st observed as every year as

a. Farmers. Day b. Tourism Day

c. National Unity Day d. Minorities Rights Day

@6leuT(H LewihD DIHCLTUT 31-3 @HHWT 6bhdH BTeME HMLLILTYSESILBHBSHI?
a. aleugmuiser b b. ammieor Heid

c. Cxdlw g@Bmem Hlelbd
d. Aguretenoulem o Menioser &Hed

Who is the author of "The theory of Industrial organisation"?

a. Patrick Modiano b. Jean Tirole

c. Richard Flanagan d. Malala Yousafzai
CamPnaTenevseller SiemwlL G&TeTensd 61aImB HIeler OLFMwT wimr?
a. Guifas GLmgBuiBert b. 28wer 19@ymed

c. Mgam’ rienGhabeit d. wevmeor wiFTOIFTUI
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93.

94.

95.

96.

97.

ECONOMICS

According to 2011 population census, total population in India is,

a. 880.8 million b. 975.8 million

¢. 1210.2 million d. 843.8 million

201110 oewiB W&HH6T CHTend HewrsboBBLUIILY ShHWTaler sHE6eT CGHTmns
a. 880.8 1ileveVlUI6T b. 975.8 10eveluiest

C. 1210.2 bleveVluiest d. 843.8 wevedlulienr

Food for work programme was introduced during the plan.
a. Fourth Five Year b. Fifth Five Year

c. Sixth Five Year d. Seventh Five Year

o anieydbG Gouemev UPEIGL SHLLD DNSPSUILGSHBUILILL F).

a. [BIeIHMD MbBHTIB S LD b. mbaTd WHHTEIH S LD

C. SIBMD WHFHTewI(h S L LD d. guwmd mbsTemi(h SHiLLb

In India, present trend of rapid urbanisation is due to

a. influence of cinema and electronic media

b. break-up of Joint family system

c. abolition of zamindari system

d. lack of employment opportunities in rural areas
BOphHWTAN60 BHSIOWITGHSNHG (PoHHU! SFENIOTS HENLOIS]
a. eflior oBLID 6T OHTLITL FTHIMIBET6N HTHHLD

b. &l (bd GGIU 2 _Ba] (el

Cc. SIHTH (pedB @LOISBSLILIL L HT6L

d. dgmoypriseied srewniLGL GCalemevulevevT @ LDHlen6v

National income of a country can be calculated by

a. 2 methods b. 3 methods c. 4 methods d. 5 methods
BTG UIBLOTRISHMS HWIHSH(BHLD ULD(LPBHEIT

a. 2 (LpenBa6i b. 3 (wewmseit

C. 4 (IpeMBBH6IT d. 5 (penmsein

Match the following :

A. First Five Year Plan 1. Equity and Social Justice

B. Second Five Year Plan 2. Removal of poverty

C. Fifth Five Year Plan 3. Agriculture oriented

D. Tenth Five Year Plan 4. Rapid Industrialization
A B C D

a. 3 1 2 4

b. 3 4 1 2

c. 4 3 2 1

d. 3 4 2 1
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98.

99.

100.

SLPHENTLUBenB  CILIT(HHSHISH:

A.(pHeomd bHTenih HI L LD 1. FISHSHIAID BEBID FepdH B
B. @yewimb smbsmemih S LD 2. eumlenio @LOIL]

C. mpbamd mbaTewi S LD 3. GouenmewIentD FihHH

D. ugand gbsreni LD 4. alemyeurenr GHTH6L LOUILDTHED

A B CcC D
a. 3 1 2 4
b. 3 4 1 2
c. 4 3 2 1
d. 3 4 2 1

The Human Resource Development is a composite index of each country is
a. Health Status, Education, Per Capita GDP
b. Health Status, Education, Per Capita GNP

c. Health Status, Education, Per Capita NNP

d. Health Status, Education, Per Capita NDP
weld euerm  Gubun®, Spsmil  GBUibseisd eelbeut(h BT eD CaFTba(HeHs
Gouemi(BD. IG

a. G BV, Heval OLOTHSH 2 6MHT(H 2 _MUSHHUNED HEVT @UHLOTEILD

b. wais Bmeod, Heval, GOTHSH HI-G 2 BUSHUIED HEOT GITHLOTEILD

C. &% BV, Heval, HHT BTLH 2 BuUSHHUTEd HEVT AIHLOTEILD

d. weis Bevld, ®eval, &Y o MBI (B 2 MBUSHHUID HeOT GUHLOTEILD

The most important small scale industry in India is the Industry.
a. textile b. paper c. jute d. handloom

@pHwrnaled Fpl OFHTHe0H6NT DHBIOTH STl LB Omleomseit.
a. OpFaysh OCFHTHeLD6IT b. Guiit Gambevser

C. FawieL OHTN60SH6 d. msss1 CHTHeose

Who can issue one rupee note of India?
a. Reserve Bank of India b. State Bank of India

c. The Ministry of Finance d. Public Finance Authority
@phHw e epuTul ChTenL  CeueNulBueuT uwimT?

a. Mafret Gumis ot @pbHwm b, edBLL Bumis & .00 bawm
C. P& SwFFd d. Gurg M8 symewTLD
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